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FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

FCI Category 2 Exam Pattern: Phase-2 (Paper 1)

Section No. Of Questions Maximum Marks Time Duration

English Language 25 25 20 Minutes
Reasoning Ability 25 25 20 Minutes
Numerical Aptitude 25 25 20 Minutes
General Studies 45 45 30 Minutes
Total 120 120 90 Minutes



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

Which of the following element is sixth to the left of the fourteenth from the 

left end of the given arrangement? 

निम्िनिनित में से कौि सा तत्व दी गई व्यवस्था में बाए ंछोर  से ौौदववें के बाए ंसे छाा व ?

(a) 6 (b) % (c) $ (d) M (e) None of these



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

If all the symbols are dropped from the series, which element will be twelfth 

from the right end? 

यनद श्रिंिा से सभी प्रतीकों को वटा नदया जाए, तो कौि सा तत्व दायें छोर  से बार ववां वोगा?

(a) 9 (b) Q (c) R (d) Y (e) None of these 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

How many such numbers are there in the given series which are immediately 

preceded by a symbol and followed by a letter?

दी गई श्िंिा में ऐसी नकतिी संख्याए ंवैं नजिके ाीक पविे एक नौन्व और  ाीक पविे एक 

अक्षर  व ?

(a) None (b) One (c) Two (d) Three (e) Four



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

How many such letters are there in the given series which are immediately 

preceded by number and immediately followed by a symbol? 

दी गई श्िंिा में ऐसे नकतिे अक्षर  वैं नजिके ाीक पविे एक संख्या और  ाीक बाद एक प्रतीक 

व ?

(a) One (b) Two (c) Three (d) More than three (e) None of 

these



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

A @ 3 4 % E N M $ 8 6 & L D S # 9 8 6 Q Y Z 1 7 % R O G @ 2 I B 2 U &

Find the odd one out? / नवषम ौिुें?

(a) N64 (b) D86 (c) Y%8 (d) R21 (e) 8EL



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

If it is possible to make only one meaningful word with the 2nd ,4th, 6th 

and 7th letters of the word ‘UNILATERAL’ which would be the second 

letter of the word from the right end? If more than one such word can be 

formed give ‘Y’ as the answer. If no such word can be formed, give ‘Z’ as 

your answer. 

यनद शब्द 'UNILATERAL' के दसूरे , ौौथ,े छाे और  सातवें अक्षर ों से केवि एक अथथपरू्थ 

शब्द बिािा संभव वो, तो दायें छोर  से शब्द का दसूर ा अक्षर  कौि-सा वोगा? यनद ऐसे एक से 

अनिक शब्द बि सकते वैं तो उत्तर  'Y' दें। यनद ऐसा कोई शब्द िवीं बिाया जा सकता व , तो 

अपिा उत्तर  'Z' दें।

(a) Y (b) N (c) L (d) T (e) Z



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

In the word ‘PRODUCE’, how many pairs of the letters have the 

same number of letters between them in the given word as they have 

in the English alphabet series? 

शब्द 'PRODUCE' में, अक्षर ों के नकतिे यगु्मों के बीौ नदए गए शब्द में अक्षर ों की 

संख्या उतिी वी व  नजतिी अंग्रेजी वर्थमािा श्रंििा में व ? 

(a) Four (b) Two (c) One (d) Three (e) More than four



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

A ≥ B ≥ C = D > E ≤ F < G 

Conclusions: 

I. E < B 

II. G > E 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

P ≤ R < T ≤ S ≥ V 

Conclusions: 

I. Q > P

II. Q ≤ P



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

L > M ≤M ≥ S ≥ T 

Conclusions: 

I. T ≤W

II. W < T



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

A < Z ≥ P > Q < L ≤M < R = S 

Conclusions: 

I. M > P 

II.L < S



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

A = G ≤M > Z > X ≥ T

Conclusion: 

I. Z > T 

II.Z = T 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

In a certain code a number MASTER is written as 143923 . How is 

FATHER written in that code ?

एक निनित कोड में एक सखं्या MASTER को 143923 के रूप में निखा जाता है। उस 

कोड में FATHER को कैसे निखा जाता है?

(A) 72823

(B) 34623

(C) 45378

(D) 92783

(E) 54321



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

In a certain code a number RUN is written as 2 . How is TOY written in 

that code ?

एक निनित कोड में एक सखं्या RUN को 2 के रूप में निखा जाता है। उस कोड में TOY

को कैसे निखा जाता है?

(A) 3

(B) 2

(C) 4

(D) 9

(E) 0



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

“people  want  hero” is written as “UEH   XH   MG ”

What is code for “FCIAGM” के निए सभंानित कोड क्या होगा? 

(1) IJT

(2) Q

(3) MG

(4) HTP

(5) NOT



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

Some Ball are Garden. 

All Garden are Trade. 

Only a few Trade are Pump. 

Conclusions: 

I. Some Ball are Pump. 

II. Some Garden can be Pump.

कथि: 

कुछ बॉि गार्थि वैं. 

सभी गार्थि टे्रर् वैं. 

केवि कुछ टे्रर् पम्प वैं। 

निष्कषथ: 

I. कुछ बॉि पंप वैं। 

II. कुछ गार्थि पंप वो सकते वैं.



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

Some Ball are Garden. 

All Garden are Trade. 

Only a few Trade are Pump. 

Conclusions: 

I. Some Ball are Pump. 

II. Some Garden can be Pump.



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

No Market is Home. 

Only a few Home are Room. 

Only a few Room is Vance. 

Conclusions: 

I. Some Home are Vance. 

II. Some Market can never be 

Room. 

कथि: 

कोई बाजार  घर  िवीं व । 

केवि कुछ वोम रूम वैं। 

केवि कुछ रूम वेंस वैं। 

निष्कषथ: 

I. कुछ वोम वंस वैं। 

II. कुछ माकेट कभी रूम िवीं वो 

सकते वैं।



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

No Market is Home. 

Only a few Home are Room. 

Only a few Room is Vance. 

Conclusions: 

I. Some Home are Vance. 

II. Some Market can never be 

Room. 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

No Party is Gathering. 

All Summary are Gathering. 

Only a few Gathering are 

Committee. 

Conclusions: 

I. Some Committee can be 

Summary. 

II. Some Party can be Committee. 

कथि: 

कोई पाटी िवीं वो र वी व । 

सभी समर ी ग दररं ग वैं। 

केवि कुछ ग दररं ग कनमटी वैं। 

निष्कषथ: 

I. कुछ सनमनत सार ांश वो सकता व । 

II. कुछ पाटी कनमटी वो सकती वैं।



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

No Party is Gathering. 

All Summary are Gathering. 

Only a few Gathering are 

Committee. 

Conclusions: 

I. Some Committee can be 

Summary. 

II. Some Party can be Committee. 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

All Chocolate are Toffee. 

No Toffee is Muffin. 

Only a few Muffin are Dark. 

Conclusions: 

I. No Chocolate is Muffin. 

II. Some Toffee can never be Dark. 

कथि: 

सभी ौॉकिेट टॉफी वैं। 

कोई टॉफी मनफि िवीं व । 

केवि कुछ मनफि र्ाकथ  वैं। 

निष्कषथ: 

I. कोई ौॉकिेट मनफि िवीं व । 

II. कुछ टॉफी कभी र्ाकथ िवीं वो 

सकती वैं।



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

All Chocolate are Toffee. 

No Toffee is Muffin. 

Only a few Muffin are Dark. 

Conclusions: 

I. No Chocolate is Muffin. 

II. Some Toffee can never be Dark. 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

I. Some fan is AC. 

II. Only a few AC is cooler. 

Conclusions: 

I. Some fan is cooler. 

II. No fan is cooler. 

कथि: 

कुछ पंि ेएसी वैं। 

केवि कुछ एसी कूिर  वैं। 

निष्कषथ: 

कुछ पंि ेकूिर  वैं। 

कोई पंिा कूिर  िवीं व ।



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Statements: 

I. Some fan is AC. 

II. Only a few AC is cooler. 

Conclusions: 

I. Some fan is cooler. 

II. No fan is cooler. 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Point S is 15m west of point R. Point R is 30m south of point Q. Point P is 

20m west of point Q. Point U is 15m south of point P. Point T is 35 north of 

point S. 

नबंद ुS, नबंद ुR के 15मी पनिम में व . नबंद ुR, नबंद ुQ के 30मी दनक्षर् में व . नबंद ुP, नबंद ुQ के 

20मी पनिम में व . नबंद ुU, नबंद ुP के 15मी दनक्षर् में व . नबंद ुT, नबंद ुS के 35मी उत्तर  में व . 

If point V is exactly between point Q and R, then how far and in which 

direction is point U with respect to V? 

यनद नबंद ुV, नबंद ुQ और  R के ाीक बीौ में व , तो नबंद ुU, V के संदभथ में नकतिी दरू  और  

नकस नदशा में व ?

(a)15m, North-East (b) 15m, East (c) 10m, North-west 

(d) 20m, West (e) 20m, North-East



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Point S is 15m west of point R. Point R is 30m south of point Q. Point P is 

20m west of point Q. Point U is 15m south of point P. Point T is 35 north of 

point S. 

नबंद ुS, नबंद ुR के 15मी पनिम में व . नबंद ुR, नबंद ुQ के 30मी दनक्षर् में व . नबंद ुP, नबंद ुQ के 

20मी पनिम में व . नबंद ुU, नबंद ुP के 15मी दनक्षर् में व . नबंद ुT, नबंद ुS के 35मी उत्तर  में व . 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Seven persons are buying different things. Only one person buy 

thing between C and A. B is buying thing immediately before C. 

Two persons buy things between C and D. C buy things after D. E 

buys thing immediately before D. More than three persons buy 

things between E and F. Only three persons buy things between D 

and G.

सात व्यनि अिग-अिग ौीजें िर ीद र व ेवैं। C और  A के बीौ केवि एक व्यनि 

वस्त ुिर ीदता व । B, C से ाीक पविे वस्त ुिर ीदता व । C और  D के बीौ दो व्यनि 

वस्त ुिर ीदते वैं। C, D के बाद वस्त ुिर ीदता व । E, D से ाीक पविे वस्त ुिर ीदता 

व । D और  G के बीौ केवि तीि व्यनि ौीजें िर ीदते वैं।



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Seven persons are buying different things. Only one person buy 

thing between C and A. B is buying thing immediately before C. 

Two persons buy things between C and D. C buy things after D. E 

buys thing immediately before D. More than three persons buy 

things between E and F. Only three persons buy things between D 

and G.



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Eight persons are sitting around a circular table facing to the center but not 

necessarily in the same order. Two persons sit between Q and P (either from 

left or right). R sits immediate to the right of Q. One person sits between R 

and S, who faces to T. Q and T are not immediate neighbors of each other. 

W sits 2nd to the left of V. Three persons sit between U and V.

आा व्यनि एक वरत्ताकार  मजे के ौार ों ओर  कें द्र की ओर  मिु कर के ब ाे वैं, िेनकि जरूर ी िवीं

नक इसी क्रम में वों। Q और  P के मध्य दो व्यनि ब ाे वैं (या तो बाए ंया दाए ंसे)। R, Q के ाीक

दायें ब ाा व । R और  S के बीौ एक व्यनि ब ाा व , नजसका मिु T की ओर  व । Q और  T एक 

दसूरे  के निकटतम पर्ोसी िवीं वैं। W, V के बायें से दसूरे  स्थाि पर  ब ाा व । U और  V के बीौ 

तीि व्यनि ब ाे वैं।



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Eight persons are sitting around a 

circular table facing to the center 

but not necessarily in the same 

order. Two persons sit between 

Q and P (either from left or 

right). R sits immediate to the 

right of Q. One person sits 

between R and S, who faces to T. 

Q and T are not immediate 

neighbors of each other. W sits 

2nd to the left of V. Three 

persons sit between U and V.



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.

एक निनित संख्या में व्यनि पंनि में ब ाे वैं। उि सभी का मिु उत्तर  की ओर  व । Q, S के दायें

से छाे स्थाि पर  ब ाता व । T, Q के बायें से आगे ब ाता व । Q और  P के बीौ केवि दो व्यनि 

ब ाते वैं। R, S के बायीं ओर  ब ाता व । U, S और  T के बीौ ब ाता व । V, U के दायें से दसूरे  

स्थाि पर  ब ाता व । W नकसी भी छोर  से तीसरे  स्थाि पर  व । S पंनि के बाए ंछोर  से आावां व । 

W और  V के मध्य छव व्यनि ब ाे वैं।



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

A certain number of persons are sitting in the row. All of them are facing 

towards north. Q sits sixth from the right of S. T sits forth to left of Q. Only 

two persons sit between Q and P. R sits forth to the left of S. U sits between 

S and T. V sits second to the right of U. W is third from any of the end. S is 

eight from the left end of the row. Six persons sit between W and V.



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Ten persons are sitting in two parallel rows containing five persons in each row such a way 

that there is an equal distance between adjacent persons. In the first row, A, B, C, D and E are 

seated and all of them are facing north. In the second row, P, Q, R, S and T are seated and all 

of them are facing south. Therefore, in the given seating arrangement, each member seated in 

a row faces another member of the other row. E sits 2nd from one of the extreme end of the 

row. P faces the one who sits 2nd to the right of E. D sits 2nd to the left of B, who does not sit 

at the extreme end. Two persons sit between S and Q. R sits immediate left of S. C sits next to 

B. 

दस व्यनि दो समािांतर  पनंियों में ब ाे वैं नजिमें प्रत्येक पनंि में पांौ व्यनि इस प्रकार  ब ाे वैं नक आसन्ि व्यनियों के 

बीौ समाि दरू ी व । पविी पनंि में, A, B, C, D और  E ब ाे वैं और  उि सभी का मिु उत्तर  की ओर  व । दसूर ी पनंि 

में, P, Q, R, S और  T ब ाे वैं और  उि सभी का मिु दनक्षर् की ओर  व । इसनिए, दी गई ब ािे की व्यवस्था में, एक 

पनंि में ब ाे प्रत्येक सदस्य का मिु दसूर ी पनंि के दसूरे  सदस्य की ओर  व । E पनंि के नकसी एक अनंतम छोर  स ेदसूरे  

स्थाि पर  ब ाा व । P का मिु उस व्यनि की ओर  व  जो E के दायें स ेदसूरे  स्थाि पर  ब ाा व । D, B के बायें स ेदसूरे  

स्थाि पर  ब ाा व , जो अनंतम छोर  पर  िवीं ब ाा व । S और  Q के बीौ दो व्यनि ब ाे वैं। R, S के ाीक बाए ंब ाा व । C, 

B के बगि में ब ाा व । 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Ten persons are sitting in two parallel rows containing five persons in each row such a 

way that there is an equal distance between adjacent persons. In the first row, A, B, C, 

D and E are seated and all of them are facing north. In the second row, P, Q, R, S and 

T are seated and all of them are facing south. Therefore, in the given seating 

arrangement, each member seated in a row faces another member of the other row. E 

sits 2nd from one of the extreme end of the row. P faces the one who sits 2nd to the 

right of E. D sits 2nd to the left of B, who does not sit at the extreme end. Two 

persons sit between S and Q. R sits immediate left of S. C sits next to B. 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

A certain number of persons are sitting in a row facing to the north. There is 

one person sits between N and M and M sit at the extreme end of the row. 

There are three persons sit between N and C. L sits 2nd to the left of C. 

There are six persons sit between C and B, who sits 3rd from one of the end. 

B sits 2nd to the left of R, who does not sit at the extreme end. There are 

four persons sit between O and N. More than three persons sit between M 

and O. There are two persons sit between K and R. 

एक पंनि में कुछ व्यनि उत्तर  की ओर  उन्मिु वोकर  ब ाे वैं। N और  M के बीौ एक व्यनि ब ाा 

व  और  M पंनि के अनंतम छोर  पर  ब ाा व । N और  C के बीौ तीि व्यनि ब ाे वैं। L, C के बायें 

से दसूरे  स्थाि पर  ब ाा व । C और  B के बीौ छव व्यनि ब ाे वैं, जो नकसी एक छोर  से तीसरे  

स्थाि पर  ब ाा व । B, R के बाए ंसे दसूरे  स्थाि पर  ब ाा व , जो अनंतम छोर  पर  िवीं ब ाा व । O 

और  N के मध्य ौार  व्यनि ब ाे वैं। M और  O के मध्य तीि से अनिक व्यनि ब ाे वैं। K और  R 

के मध्य दो व्यनि ब ाे वैं।
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A certain number of persons are sitting in a row facing to the north. There is 

one person sits between N and M and M sit at the extreme end of the row. 

There are three persons sit between N and C. L sits 2nd to the left of C. 

There are six persons sit between C and B, who sits 3rd from one of the end. 

B sits 2nd to the left of R, who does not sit at the extreme end. There are 

four persons sit between O and N. More than three persons sit between M 

and O. There are two persons sit between K and R. 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Eight persons - A, B, C, D, E, F, G and H 

were born in different months of January to 

August of the same year but not necessarily 

in the same order. Not more than one person 

is born in a month. G was born in a month 

that has 31 days but not in the month of 

May. There is a gap of one month between G 

and A. A born somewhere after G. B was 

born in the month which has the least 

number of days. E was born immediately 

after C. Number of persons born before E is 

one more than the number of person born 

after E. F born before D. There is a gap of 

two months between A and H.

आा व्यनि - A, B, C, D, E, F, G और  H एक वी 

वषथ के जिवर ी से अगस्त के नवनभन्ि मवीिों में प दा

वुए थे िेनकि जरूर ी िवीं नक इसी क्रम में वों। एक 

मवीिे में एक से अनिक व्यनि का जन्म िवीं वोता व । 

G का जन्म उस मवीिे में वुआ था नजसमें 31 नदि वोते 

वैं िेनकि मई के मवीिे में िवीं। G और  A के बीौ 

एक मवीिे का अंतर  व । A, G के बाद कवीं प दा वुआ 

व । B उस मवीिे में प दा वुआ व , नजसमें नदिों की 

संख्या सबसे कम व । E, C के ाीक बाद प दा वुआ 

था। E से पविे प दा वुए व्यनियों की संख्या E के बाद 

प दा वुए व्यनियों की संख्या से एक अनिक व । F का 

जन्म D से पविे वुआ व । A और  H के बीौ दो मवीिे 

का अंतर  व । 



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

Eight persons - A, B, C, D, E, F, G and H were born in different 

months of January to August of the same year but not necessarily in 

the same order. Not more than one person is 

born in a month. G was born in a month 

that has 31 days but not in the month of 

May. There is a gap of one month 

between G and A. A born somewhere 

after G. B was born in the month which 

has the least number of days. E was born 

immediately after C. Number of persons 

born before E is one more than the 

number of person born after E. F born 

before D. There is a gap of two months 

between A and H.



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E and F 
are facing north and other six P, Q, R, S, T, and U are facing south. Each person from 
one row faces exactly one person from the other row but not necessarily in the same 
order. A and R sits diagonally opposite to each other. There are two persons sitting 
between R and Q. One of the immediate neighbors of Q faces C, who does not sit near 
A. P faces B and P is not an immediate neighbor of Q. There are two persons sitting 
between B and D. T sits second to the right of U. E does not sit at any of the extreme 
ends. S and T is not an immediate neighbor of each other. A sits at one of the extreme 
ends.

दो समािांतर  पंनियों में बार व व्यनि ब ाे वैं। छव व्यनि A, B, C, D, E और  F उत्तर  की ओर  उन्मिु वैं और  
अन्य छव P, Q, R, S, T और  U दनक्षर् की ओर  उन्मिु वैं। एक पंनि के प्रत्येक व्यनि का मिु दसूर ी पंनि
के ाीक एक व्यनि की ओर  व  िेनकि आवश्यक िवीं इसी क्रम में वो । A और  R एक दसूरे  के नतर छे नवपर ीत 
ब ाे वैं। R और  Q के बीौ दो व्यनि ब ाे वैं। Q के निकटतम पडोनसयों में से एक C की ओर  उन्मिु व , जो A 
के निकट िवीं ब ाता व । P का मिु B की ओर  व  और  P, Q का निकटतम पडोसी िवीं व । B और  D के बीौ 
दो व्यनि ब ाे वैं। T, U के दायें से दसूरे  स्थाि पर  ब ाा व । E नकसी भी अनंतम छोर  पर  िवीं ब ाा व । S और  T 
एक दसूरे  के निकटतम पर्ोसी िवीं व . A नकसी एक अनंतम छोर  पर  ब ाा व ।



FCI AG III PHASE-2 ( REASONING ) at 9:00 AM

There are twelve persons sitting in two parallel rows. Six persons A, B, C, D, E 
and F are facing north and other six P, Q, R, S, T, and U are facing south. Each 
person from one row faces exactly one person from the other row but not 
necessarily in the same order. A and R sits diagonally opposite to each other. 
There are two persons sitting between R and Q. One of the immediate 
neighbors of Q faces C, who does not sit near A. P faces B and P is not an 
immediate neighbor of Q. There are two persons sitting between B and D. T 
sits second to the right of U. E does not sit at any of the extreme ends. S and T 
is not an immediate neighbor of each other. A sits at one of the extreme ends.


